MI{A M IDADE MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Arrow United Industries
314 Riverside Drive

P. O. Box 69

Wyalusing, PA 18853

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division and
accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where
allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami Dade County Product Control
Division (in Miami-Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade county Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code
including the High Velocity Hurricane Zone.

DESCRIPTION: 6”Louver System Model EA 64.

APPROVAL DOCUMENT: Drawing No.1464, titled “EA-64 Louver System” dated 12/02/05 with no revisions,
prepared by W.W. Schaefer Engineering & consulting, PA., signed and sealed by W. W. Schaefer, P.E., bearing
the Miami-Dade County Product Control Approval stamp with the NOA number and approval date by the Miami-
Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant.

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved or MDCPCA", unless otherwise noted
herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the Job site at the request of the Building Official.

This is a Private Label of NOA # 05-0328.01 consisting of this page, evidence page as well as approval
document mentioned above.

The submitted documentation was reviewed by Candj

NOA No: 05-1206.04
Expiration Date: April 22, 2009
Approval Date: May 26, 2006
Page 1




Arrow United Industries

A.

B.

NOTICE OF ACCEPTANCE:

EVIDENCE SUBMITTED

DRAWINGS.,

L.

Drawing prepared by W.W. Schaefer Engineering & consulting P.A., titled
Drawing No. 1464, dated 12/02/05, with no revisions signed and sealed by W.

TESTS.

NV A WL~

\O

10.
11.
12.
13.
14.

Test Report

HTL 0198-0508-03
HTL.0198-0618-03
HTL 0198-0804-03
HTL 0198-0508-03
HTL 0198-0804-03
HTL 0198-0324-03
HTL 0198-0324-03
HTL 0198-0324-03
HTL 0198-0324-03
HTL 0198-0128-03
HTL 0198-0508-03
HTL 0198-0324-03
HTL 0198-0324-03
AT 01-45720.01

CALCULATIONS.

L.

2.

3.

QUALITY ASSURANCE.

L.

Allowable Load Calculations, dated 09/04/03
Engineering and Consulting PA, signed and se

Test Standard

TAS 201,202 & 203
TAS 201, 202 & 203
TAS 201, 202 & 203
TAS 201, 202 & 203
TAS 201, 202 & 203
TAS 201, 202 & 203
TAS 201, 202 & 203
TAS 201, 202 & 203
TAS 201, 202 & 203
TAS 201, 202 & 203
TAS 202

TAS 202

TAS 201 & 203
TAS100(A)-95

Test Date

05/15-10/03
06/06-25/03
08/06-08/03
05/08-13/03
08/08-11/03
03/24-26/03
03/24-04/16
03/24-24/03
03/25-04/21
02/10-04/21
05/13-13/03
03/27-27/03
03/24-04/21

“EA-64 Louver System”
W. Schaefer, PE.

Test Witness

V.J.Abraham PE.
V.J.Abraham PE.
V.J.Abraham PE
V.J.Abraham PE
V.J.Abraham PE
V.J.Abraham PE
V.J.Abraham PE
V.J.Abraham PE
V.J.Abraham PE
V.J.Abraham PE
V.J.Abraham PE
V.J.Abraham PE
V.J.Abraham PE,

06/16/03J.A. Reed PE.

pages 1 through 11 of 11 prepared by W.W. Schaefer
aled by W.W. Schaefer, PE.

Allowable Load Calculations, dated 03/04/04, pages 1 through 6 prepared by W.W. Schaefer

Engineering & Consulting PA, signed and seal
Revised Allowable Load Calculations dated 09/04/03
prepared by W.W. Schaefer Engineering & Consulting P

Miami-Dade Product Control Division

STATEMENTS

No financial interest letter issued b

and sealed by W. W. Schaefer, PE.

Code compliance letter issued by W.W. Schaefer Engineerin

and sealed by W. W. Scheafer PE.

Test compliance letter issued by

Abraham, PE.

ed by W.W. Schaefer PE.
and revised on 08/22/05, page 1 through 11
A, signed and sealed by W.W. Schaefer PE.

y W.W. Schaefer Engineering & Consulting PA on 09/22/03 signed
g & Consulting PA on 09/22/03 signed

Hurricane Test Laboratory on 09/09/03, signed and sealed by V.I.

Private Labeling Agreement between American Warming and Ventilating and Arrow United
Industries, signed by R. Lichtenwald and V. Kreglewicz, both signatures were notarized.

05,06 /66

Caxdido F. Font PE.

Sr. Product Control Examiner

NOA No 05-1206.04

Expiration Date: April 22, 2009
Approval: Date: May 26, 2006



| MAX.

VERTICAL STACKING OF MULLED PANELS MAY OCCUR PROVIDING A STRUCTURAL’

SUPPORT [S DESIGNED & INSTALLED BY OTHERS TO SUPPORT ALL LOADS ~
TRANSFERED FROM THE LOUVER ASSEMBLY (SINGLE PANELS MAY RUN TO

UNLIMITED HEIGHT PER ELEVATION IF NO MULLION EXISTS).”

. SEPARATION OF DISSIMILAR MATERIALS MUST BE MAINTAINED PER ALL /
APPLICABLE CODES & SECTION 2003.8.4 OF FBC 2004. -

. THIS SYSTEM HAS BEEN TESTED FOR WATER INFILTRATION RESISTANCE AND IS ”

A WATER RESISTANT SYSTEM WHEN THE LOUVER BLADE ENDS ARE SCREWED -
& WELDED AND THE DAMPER BLADE IS ATTACHED TO THE LOUVER BLADES -

AS SHOWN IN SECTION "A2/4". (NOT RATED FOR WATER RESISTANCE WHEN ~
LOUVER BLADE ENDS ARE SCREW CONNECTED ONLY) -

. UNLESS THE DAMPER BLADE IS ATTACHED TO THE LOUVER BLADES, THE -

LOUVER IS TO BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND -
THE LOUVER IS DESIGNED TO DRAIN WATER PENETRATING INTO THE ROOM,”
AND THE ROOM WILL HOUSE WATER RESISTANT/WATER PROOF EQUIPMENT, *

COMPONENTS OR SUPPLIES. .
. ALL DETAILS OF SHEETS 8 THRU 11 MUST COMPLY WITH THE LOUVER
DETAILS SHOWN ON SHEETS 1 THRU 7.

BY THE DETAILS ON SHEETS 1 THRU 7. «

ANY DISCREPANCY IS CONTROLLED ~

SIDES ONLY)

FASTENER SCHEDULE “ e 60" MAX. —
(REF. LOAD TABLES) (
ANCHOR TYPE (5) SUBSTRATE . MINIMUM ‘| MINIMUM |,
EMBEDMENT| EDGE DIST. ”@ .
(3INQ. 10 S.S. SCREW ~“ WooD - 1.3/8". 3/4" .
@ NO. 10 SELF TAP SCREW - |METAL STUD OR STEEL{ FULL - 3/4" - g I
(1)1/4” CONCRETE SCREW - | C90 CONCR. BLOCK | 1 1/4" | 2 1/2% . 4 !
” " ” O
(111/4" CONCRETE SCREW CONCRETE 11/4" | 2" AN ‘ﬂ’—_jm%
@)1/4" BOLT ¢ |STEEL OR METAL STUD| FULL -| 3/4". 2 L Fog
wn
(4) 3/8" SLEEVE ANCHOR - CONCRETE - 2 1/2", 2, gr’) o
(23/8" BOLT 7 STEEL FULL - | 3/4" C53 —E3
(1) CONCRETE SCREWS SHALL BE ELCO TAPCONS OR HILTI KWIK—CON II.” >C-A< WwZo
(HARDENED STEEL OR S.S. PER AISI 1021 & 410) 7 G <8
(2) BOLT SHALL BE MIN. A307 GALVANIZED OR 304 S.S. (Fv = 10,000 PSI MIN.)” o z5
(3) WOOD SCREWS SHALL HAVE MIN. YIELD STRENGTH OF Fyb = 80,000 PSI - ’ w-g
(4) SLEEVE ANCHORS MAY BE GALVANIZED OR S.S. RAMSET RED HEAD DYNABOLTS - 0 @
OR POWERS RAWL POWER BOLT.”
(5) SEE GENERAL NOTES FOR SUBSTRATE REQUIREMENTS. ~
(6) SELF TAPPING SCREWS SHALL BE CORROSION RESISTANT MIN. SAE GRADE 2 * fa ;
STEEL OR MIN. ALLOY GROUP 1, 2 & 3 CONDITION "A” STAINLESS STEEL. - =
CORNER & BLADE END CONSTRUCTION - =
BLADE TO_JAMB: * z ;
WELDED CONDITION: BLADE END BUTTS TC JAMB, IS WELDED >
WITH ONE 1/8" X 5" WELD AND SCREWED TO JAMB WITH WITH |- , ;
2 NO. 8 X 3/4" S.S. SMS SCREWS THROUGH JAMB AND INTO |
BLADE SCREW SPLINES. ~ Y g
SCREWED_CONDITION: BLADE END BUTTS TO JAMB & IS < , D, 5
SCREWED TO JAMB WITH TWO (2) 1/4-20 X 1 1/2" TYPE "F"{ |\vio ooy oF - <5<
SCREWS THROUGH JAMB AND INTO BLADE SCREW' SPLINES. - , Tooa
HEAD TO JAMB: HEAD FRAME IS SQUARE CUT, BUTTED AND WHEN - 2,9
JOINED TO JAMB WITH ONE 1/8" X 5" WELD AND 2 NO. 8 X * REQUIRED - o o
3/4” S.S. SMS SCREWS THROUGH JAMB AND INTO HEADER * FOR - - 53
SILL_TO JAMB: SIDE JAMB BUTTS TO SILL AND IS JOINED TO SILLA YT o
WITH THREE(3) 1/8” X 1" WELDS AND 2 NO. 8 X 3/4” S.S.- (SEE SECTION - L2y
SMS SCREWS THROUGH SILL AND INTO JAMB SCREW SPLINES.- A1/4 FOR F oz 5
GENERAL NOTES: - DETAIL). - weg
1. IT_SHALL BE THE RESPONSIBILTY OF THE PERMIT HOLDER To °~ SPLICE - 0 @
VERIFY THE STRUCTURAL INTEGRITY OF THE EXISTING - LOCATION TO
STRUCTURE TO SUPPORT THE LOADS SUPERIMPOSED BY THE * BE BETWEEN l
LOUVERS. - BLADES. - h
2. THESE LOUVER SYSTEMS HAVE BEEN DESIGNED & TESTED IN * -
ACCORDANCE WITH THE 2004 FLORIDA BUILDING CODE (FBC) ,
AND PROTOCOLS TAS—100, 201, 202 & 203 INCLUDING HIGH ) |
" VELOCITY HURRICANE ZONES (HVHZ). - 6 MAX.
3. EACH LOUVER ASSEMBLY SHALL BE PERMANENTLY LABELED AS ‘
FOLLOWS: ARROW UNITED INDUSTRIES * INSTALLATION- EXTERIOR ELEVATION -
WYALUSING, PA ‘ p
MIAMI—DADE COUNTY PRODUCT CONTROL APPROVED ~ gllbIES<AOTNLY) . SINGLE LOUVER PANEL WITHOUT
4. ALL CONCRETE SUBSTRATE SHALL BE MIN. 3000 PSI. .
5. ALL WOOD SUBSTRATE SHALL BE MIN. G = 0.55 DENSITY. BLADE SUPPORT ANGLE
6. ALL METAL STUD SUBSTRATE SHALL BE MIN. 16 GA. Fy = 33 ksi. ~ NOTE: LOUVER PANELS MAY BE STACKED/SPLICED
7. ALL STRUCTURAL STEEL SUBSTRATE SHALL BE MIN. 12 GA. Fy = 36 ksi. ey ,
8. PANEL WIDTHS & HEIGHTS ARE LIMITED AS SHOWN IN ELEVATIONS. + VERTICALLY OR THE LOUVER PANEL MAY RUN VERTICALLY
9. MULLED PANELS MAY BE HORIZONTALLY INSTALLED TO AN UNLMITED NUMBER.© 1O INFINITE HEIGHT PROVIDING OPENING IS PROPERLY -

DESIGNED BY OTHERS TO SUPPORT THE LOUVER PANELS. -

96" MAX. -
(REF. LOAD TABLES) ~
/ a - . q o
Z PANELNZ 1 MAX.
i i
K
il 4.2
Q
= if 25X
i oo
3
. )
i g
il Z0 3
i 22
il wes
II L) LJ
T .
L l 4
iy / ~ 6
o i " 6" MAX.
v T "
o i ! —6" MAX.
. 3k
, (1] O
JAMB “/, " BLADE SUPPORT—_-_III B =
SPLICE - — ANGLE REQUIRED - I =52
WHEN "~ WITH ALL LOUVER = i I =G
REQUIRED T PANELS HAVING —— ) 2
FOR - ==A FRAME WIDTH S5
STACKING ——CREATER THAN 7t nks
(SEE p ' :60" (SEE - H W T~
SECTION N - i =y
A1/4 FOR| —SECTION "B” FOR—_ 1[I la &
SEiAL): == CONNECTION TO i w®3
g —=LOUVER BLADES /= Ll W
SPLICE L v o
COCATION & SILL) L
TO BE ° L l
BETWEEN ] !
BLADES. - i
7 4 45 A q 6" MAX.J
'([}‘LSI;A%/L\’;T,'ON EXTERIOR ELEVATION

SINGLE LOUVER PANEL WITH -
BLADE SUPPORT ANGLE

NOTE: LOUVER PANELS MAY BE STACKED/SPLICED *

VERTICALLY OR THE LOUVER PANEL MAY RUN VERTICALLY -

TO INFINITE HEIGHT PROVIDING OPENING IS PROPERLY -
DESIGNED BY OTHERS TO SUPPORT THE LOUVER PANELS.”
BLADE SUPPORT ANGLE S CONTINUOUS FROM HEAD TO -
SILL AND SPLICING OF THIS ANGLE IS NOT PART OF ~
THIS APPROVAL. ’

ALLOWABLE PRESSURES -

PRESSURES VARY WITH PANEL SIZE, -
CLIP SPACING & MULLION CONDITIONS
& SHALL BE CONTROLLED BY THE ~
LESSER OF THE ALLOWABLE PRESSURE
FOR EACH OF THOSE APPLICABLE -
CONDITIONS. SEE LOAD TABLES ON
SHEET 3 FOR ALLOWABLE PRESSURES.

O3- 120654
‘

s

.

DRAWING NO.

DRAWN BY: |CHECKED BY:
W.RM. WW.S.
PLOT: DATE:
1=24 12/02/05
W
<€
(=]
>
m
4
=]
=
a
[ 4
<
(3
[
(=]
z
Q
4]
&
[ 4
el
z
[72]
LI_J M)
E Wo
wn =00
S xoX
o o-3
Z
= w=<<
oo |
a0 .9
- O
Z 9z
o 0o
z L3b
0
g I
X =
o X
s
3]
£
ol B
E £
> "
n O &
= <+ T
o r Sown
(T Ld L3
> d ¢ On‘
2 Z<(. W' -
<n = 2
Q o sS.w»
| = Lk
o ng
© i Fon
| Lt .o
Ly 232
O ug g7
<z 3390
Ly Io 25,\
- 2OQ _al
E |20° =g
© 5.3 830
= 52 ]
= 22} © =z
s g @
& o= a
ui
(Y] o
= g
g &~ by
= IO E
Q Ry g
L ==y nz
= :
(24 B O S f‘{;g\
o= fe.
<
=

1464

SHEET NO.

1 or 12

~
<




EXTERIOR ELEVATION ~
MULLED UNITS -

THAN 3 PANELS MAY BE ~

(3 PANEL UNIT SHOWN; MORE -

MULLED/STACKED HORIZONTALLY) ~

RECTANGULAR PANELS SHOWN; SHAPED PANELS MAY ALSO

BE MULLED PROVIDING THE MULLION END CONNECTIONS -
ARE AS DETAILED WITH THE ABOVE RECTANGULAR ELEVATION.

v s J
"A” "BJ) ”Ct)
(REF. ELEVATIONS ON (REF. ELEVATIONS ON - (REF. ELEVATIONS ON ~
SHEETS 1 & 2 & LOAD’ SHEETS 1 & 2 & LOAD 41 SHEETS 1 & 2 & LOAD [
TABLES ON SHEET 3 FOR{*TABLES ON SHEET 3 FOR|-TABLES ON SHEET 3 FOR}”
MAX. FRAME WIDTHS) - MAX. FRAME WIDTHS)- MAX. FRAME WIDTHS) ,
ATYADY (EIVED\ - ’
N 6 A6/ rs" MAX.
i , ‘, . ]
{ + t t 0
{
I
! S hvd b : - "
— i -
T O
Lo (L8 Tz
5 ; . ; .-
P ' ’ 55
0 \5/[ i Lo
T -5
W ,r L , <©
= = : =a
& oy
£ E
-8
3 : : ] ox
zZ
B <3
v oC
¥ ‘ 0w
t " t w
INSTALLATION
i : " : 1/ CLIP (AT~
SIDES ONLY)
.
q t + ; h 1
q , q , 6" MAX.—f
LOAD WIDTH = LOAD WIDTH =
(A+B)/2 . (B+C)/2 . p

UNLIMITED

‘\SEE SECTION A1/4 +

FOR SiLL SECTION -

96” MAX WITH BLADE SUPPORT ANGLE ’
60" MAX. WITHOUT BLADE SUPPORT ANGLE -

EXTERIOR ELEVATION -~

HALF _ROUND LOUVER PANEL ’

(OTHER SHAPES APPLICABLE PER “
APPROVED SHAPE TABLE) /

BLADE SUPPORT ANGLE REQUIRED
WITH ALL LOUVER PANELS HAVING

12.5" MAX. O.C.

APPROVED SHAPES
5

N\

b {1

b fanbe i

he

VI

D

D T
L0004

BLADE SUPPORT ANGLE ~
REQUIRED WITH ALL 7
LOUVER PANELS HAVING 7
A FRAME WIDTH GREATER -
THAN 60". (SEE SECTION “
"B" FOR CONNECTION TO “
LOUVER BLADES & SILL) /

DRAWN BY:
W.RM.

CHECKED BY:
W.W.5.

FLOT:
1=24

DATE:
12/02/05

DATE

BY

REVISION DESCRIPTION

NO.

MANUFACTURER

ARROW UNITED INDUSTRIES

PA 18853
570-746—-1888

314 RIVERSIDE DRIVE

WYALUSING,

EA—64 LOUVER SYSTEM

ITLE

DRAWIN

CONSULTANTS

W. W. SCHAEFER ENGINEERING

& CONSULTING, P.A.

8895 N. MILITARY TRAIL; SUTE C—204
PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561-775-4903

1. OTHER SHAPES MAY APPLY PROVIDING THEY ARE
SIMILAR TO THOSE SHOWN & HAVE CORNER ~
CONSTRUCTION AS DESCRIBED ON ALL SHEETS. ~
2. ALL SHAPED LOUVER PANELS ARE RESTRICTED TO~
THE SAME PANEL WIDTHS & PRESSURE AS THE ~
RECTANGULAR LOUVER PANELS & MAY BE STACKED ’
VERTICALLY & HORIZONTALLY THE SAME AS THE ~
RECTANGULAR PANELS.
3. CLIP SPACING IS RESTRICTED TO 6" FROM ENDS &

e

/4. WHEN BLADES EXCEED 60" IN LENGTH (UP TO 967),
BLADE SUPPORT ANGLE AND BRACKETS ARE REQUIRED <
AT A MAXIMUM OF 48" FROM BLADE ENDS.
5. ALL OTHER SHAPES, EXCEPT SQUARE & ~
RECTANGULAR, - MUST HAVE BLADE SUPPORT ANGLE AND
BRACKETS AT CENTER OF SPAN REGARDLESS OF BLADE
LENGTH,

Fd

4
| MAX. —| | A FRAME WIDTH GREATER THAN -
. a\q\S 60”. (SEE SECTION *B/4" FOR
6" MAX, | ] CONNECTION TO LOUVER BLADES -
, C =Y & SILL)
1 125" wax. T D
0C. 7 12.5” MAX. 0.C. *
—}—E T
ro ’ il
q (CRYCIYCIYT Ll ,
E GASASAS /L= 7D\ 6" MAX. |
= N
= (1 6" MAX.
% » E |: :I
, 6" MAX. 1 }
- | i |
6" MAX. | :1 ; b
iy 12.5” MAX.
| pl 0.C.
J _L__.[ (! 1 ‘ ,
6" MAX. T 6" max.
f SEE SECTION A1/4 - f .
FOR SILL SECTION JAMB SPLICE WHEN
96” MAX WITH BLADE SUPPORT 7 REQUIRED FOR -
~—  ANGLE; 60" MAX. WITHOUT v —= ﬂ/\/aKlng(SDEEEAlSSCTlON ’
BLADE SUPPORT ANGLE ~ S
EXTERIOR ELEVATION ~ SPLICE LOCATION EO BE
BETWEEN BLADES (SEE
PARTIAL ARCH TOP PANEL”  NoOTE 6 BELOW). -
(OTHER SHAPES APPLICABLE PER ~
APPROVED SHAPE TABLE) -
NOTES: 7

£
! . 6. SPLICES MAYNOT EXIST ON BENT OR SLOPED JAMBS.

12.5" MAX. 0.C. FOR ALL SHAPED LOUVER PANELS. ~

ONLY STRAIGHT VERTICAL JAMBS MAY BE SPLICED.

rd

CERTIFICATION

. SCHAZFER, P.E.
. NO. 44135

DRAWING NO. REV.

1464

SHEET NO.

2 o 12




TIORAWN &Y:

CHECKED BY:
MULLION LOAD TABLE (SEE INSTRUCTIONS BELOW) PANEL LOAD TABLE T
MULLION | LOAD [(1) ALLOWABLE| |MULLION| LOAD (1) ALLOWABLE| |[MULLION| LOAD |(1) ALLOWABLE| |MULLION| LOAD |(1) ALLOWABLE PANEL [(3) CLIP  [(1) ALLOWABLE|| PANEL [ CLIP (1) ALLOWABLE
SPAN | WIDTH ((2) PRESSURE | | SPAN | WIDTH |(2) PRESSURE | | SPAN | WIDTH |(2) PRESSURE | | SPAN | WIDTH [(2) PRESSURE WIDTH | SPACING |(2) PRESSURE || WIDTH | SPACING |(2) PRESSURE | ||
(N) 2] (N (PSF) (N A4 (N) 7 (PSF) (N 7l (N - (PSF) - (IN.) (N.) - (PSF) - (IN.) - (IN.) . (PSF) (IN.) (IN.) (PSF) | jiS
18" .| 96" .| 180.0 96" , 65.7 96 . 47.0 . 96", 32.9 ° . 12.5" - 180.0 | . [ 128 1000 | |2
96" .| 164.3 90" 70.1 . 90", 50.1 - 90" 35.1 ’ 20" . 127.3 20" 63.6
24" 90" | 175.3 84" 75.1 . 84", 53.7 . 84" - 37.6 - » 12.5", 154.3 » 12.5" . 92.3 7 | Il
’ ; 42 > 78" - — |13
84" ,| 180.0 . 78" 80.9 - 78" 57.8 - 78" 404 . 20 109.1 - 20" 58.7 e
96" ,| 1315 . / 72" 87.6 . 727 62.6 - 72" 438 i 125" 120.0 g 12.5" 850 | |la
90" .| 1402 - 60" 66" 95.6 - g |65 68.3 . / 66" . 47.8 ‘ 20 95.5 . 20" 545 | |12
s 8¢ | 1502 60" - | 105.2 - 60" - 751 120" 89" 52.6 - sar, | 125" 106.7 || o 125" 800 |12
78" ¢ 161.8 54" 116.9 - 54" . 83.5 . 54", 58.4 20" - 84.8 . 20" 1 50.9 &
727 . 175.3 . 48" | 1315 . 48" 93.9 - 48" 65.7 . 12.5" 90.0 . o6" 12.5" 750 |13
66" 180.0 42" | 1502 ° 42" 107.3 - 42" 751 ' 20" 76.4 20" - 477 ¢
96" , | 109.6 - 36" 175.3 - 36" 1252 36" 87.6 N 109.1 |
90", 116.9 30" | 180.0° 30" 150.2 - 307, 105.2 207 69.4
, 84" | 1252 9" (| 598 24" | 180.0 24" | 1315 NOTE: ALL SHAPED LOUVER PANELS ARE RESTRICTED TO A~ 0
. 78" 134.8 ~ 90" . 63.7 ° 96" - 41.1 - 18", 175.3 « FRAME CLIP SPACING OF 12.5" 0.C. 20" CLIP SPACING IS y Z 0
72" 146.1 84" | 683 90" 238 96" 772 ONLY ALLOWED ON RECTANGULAR & SQUARE SHAPE LOUVERS. B 28 .
66" - 159.3 78" - 735 - 84" 47.0 90" 290 3 56-%
60" 175.3 , 72" 79.7 - 78" 50.6 - 84" 311 LOAD TABLE NOTES ~ ] =2 WE
o e . e g oo e 78" 335 (APPLICABLE TO_MULLION & PANEL LOAD TABLES): , @ QOE
96” - 939 . 60" - 95.6 . ' 66 59.8 . 72" 36.3 1) ALLOWABLE PRESSURE IS BOTH POSITIVE & NEGATIVE. E wz"
90" - 100.2 54" 106.2 - 96" 60" - 65.7 . ) 66" . 39.6 2) THE LESSER LOAD FROM THE MULLION LOAD TABLE & ! S 28Q
84" 1073 28 | 1195, YO 730 R rne 436 THE PANEL LOAD TABLE SHALL CONTROL AS THE * z <2
' 78" 1156 g 366 e 822 . 132 54" 84 ALLOWABLE FOR THE ENTIRE MULLED UNIT. ¢ _E oz
42" 727 | 1252 36" 159.3 - 427 93.9 . 48" 54.4 b - g <
66", | 1366 30" | 180.0° 36" | 109.6, 2" | 622 = PANEL WIDTH “A"— PANEL WIDTH B 9
60" 150.2 - 96" - 54.8 . 30", 1315 36" 72.6 PANEL PANEL - ~AE
54" 166.9 - 90" - 58.4 - 24" . 164.3 . 307, 87.1 CENTERLINE CENTERLINE =
48" | 180.0 84" 62.6 18" | 180.0 - 24" | 10839 nleo |8
96" - 82.2 - 78" | 67.4° 96" 36.5 18", 145.2 w| 2 ?gé
90” . 87.6 - ) 72", 73.0 - 90"/ 39.0 - 72" 28.0 - : : 3| U< ;né
84", 93.9 66" 79.7 - 84" 417 . 66", 305 S| g% et
| 78" . 1011 72" 60" 87.6 - 78" 449 60" 335 + | &g g8
e 109.6 - 54" | 974 . 72" 48.7 . / 54" 37.3 2| 588
66" | 1195 - 48" | 109.6 , 66" 53.1 - g |48 41.9 o || & g £
60" 1315 / 2" | 1252 108" | 60" 58.4 - 42" 479 ;, I z | |38 5%
547 146.1 - 36" 146.1 - 547 64.9 - 36" 55.9 3 E74 238
48" 164.3 - 307 | -175.3° 48" 730 - 30" 67.1 2 [ |3 8%y
42" 180.0 24" | 1800 - 42", 835 - 24" 83.9 = g |8z z
367 97.4 - 18" . 111.8 .
30™ 116.9 - l, | P
MULLION | OAD TABLE INSTRUCTIONS:” 24" 146.1 - r I €3
1. DETERMINE REQUIRED DESIGN PRESSURE OF THE LOUVER ASSEMBLY. 18" 180.0- Wy
2. DETERMINE THE REQUIRED MULLION SPAN OF THE LOUVER ASSEMBLY.- 3g
2 80 10 THE MULITON TOADTABLE A CHECK it ALLOWABLL PRESSURE FOR THE RESPECTIVE MULLION - | MULLION "LOAD WIDTH" ° MULLIOR Vs
SPAN/LOAD WIDTH. — = (A + 8)/2 )
5. GO TO THE PANEL LOAD TABLE AND CHECK THE ALLOWABLE PRESSURE FOR EACH PANEL WIDTH. ~ LOUVER ASSEMBLY E:
6. IF ALL THE ALLOWABLE PRESSURES OF INSTRUCTIONS 4 & 5 ARE GREATER THAN THE -
REQUIRED DESIGN PRESSURE, THE ASSEMBLY IS ACCEPTABLE. - BRRWIRG NO. [REV.
7. IF ANY ALLOWABLE PRESSURE OF INSTRUCTIONS 4 & 5 ARE LESS THAN THE REQUIRED DESIGN PRESSURE, THE 1464
ASSEMBLY IS NOT ACCEPTABLE UNLESS THE ASSEMBLY SIZE OR PRESSURE IS REDUCED AND INSTRUCTIONS FROM SHEET NO.
1 TO 7 ARE FOLLOWED AGAIN. , 3 or 12




(MULLION
SPLICE IS NOT
PART OF THIS
APPROVAL)

JAMB SPLICE—]

/
‘

J

/

-

71/8[/1" - 12°

/
5

/
CONTINUOUS
BLADE SUPPORT
BRACKET AT -
BLADES ABOVE -
& BELOW JAMB *
SPULCE

CLIP ANCHORS

(REF. SECTIONS

"C1/5” THRU "C4/5")

30

i O
\@/
I

SEAL AROUND

7

178 I/S,. LONG \TYP. FOR ALL BLADES

QUL

1/4 X 1/4 ADHESIVE 7
BACK FOAM IN v
CONJUNCTION WITH 7
1/8” X 3/4" ADHESIVE Y
BACK FOAM SEAL

S
scwﬁ%:v gig:lf\FDS/ LOCATED AT JAMBS ’
SEALING / ,
WASHER CLIP ANCHORS
, (REF. SECTIONS "C1/5"
o THRU "C4/5")
MAX. !
(2AX2B) 6” TALL SILL

3 1/2” I I

MAX. |{ /

| é S
4

/ . )| RN ya
1/2" MAX.
SPACE />
P\

1/4" DIA. WEEP—
HOLES 6" 0.C.

POSITIONED 6” FROM

ENDS AND JAMB

SPLICE AND SPACED
PER LOAD TABLE .

SECTION ”

T

/AT Y

SCALE: 3"=1"-0" \4_/

(STANDARD LOUVER) !

SILL TO JAMB CONNECTION
REQUIRES (3) 1/8 X 1”

WELDS & 2 #8 X 3/4"
S.S. SMS

v

J

CAP SEALED WITH
SILICONE SEALANT “

SECTION - 7\’ ¥ /
SCALE: 3"=1"-0",\4 /, 0.750 /
v (WATER RESISTANT LOUVER) T| o
1) MANUAL ROTO—OPERATOR’ ~ 8.294

SHOWN ON SHEET 8 OF 11
PART OF THIS SECTION.
2) INSTALLATIONS OF WATER
RESISTANT LOUVERS ARE ¥
LIMITED TO 33 FT. ELEVATION
3) ALL OUTSIDE CORNERS’ARE
TO BE SEALED WITH SILICONE
SEALANT. /

|
S (1A SILL_PAN -
/

v
/

/SIL!CONE SEAL JAMB TO SILL

1X1X1/8 CHANNEL SPACER BLOCK /
WITH #8X2" TEK SCREW AND v

ADHESIVE TAPE EVERY 7 1/2”" o.c.’ /

<L WEEP SLOTS 6” FROM'

ENDS AND MAX.
Y (1/4”X1” AT EXTERIORy
1/2"X1" AT INTERIOR) *

18" 0.C.¥

J— 7
0750/ | 0.063

/

\\

{

N
@@
L]
' L—"" (rvp. AT
— | ea BLADE) ~

i
.

[

AN

2 1/2"-

LONG

,

\®

QY

X
=

TL——t 6.857 :

SILL_PAN /

1.982

SECTION (B
SCALE: 3"=1'-0" ,\ 4/

NOTE: ALL SECTIONS ON THIS SHEET
SHOW THE COMBINATION OF SCREWED &
WELDED BLADE END CONSTRUCTION. FOR
SCREWED ONLY END CONSTRUCTION, -
SEE DETAILS ON SHEET 7. ~

DETAILS ON SHEET 7 OF 12 ARE NOT ’
RATED FOR WATER RESISTANCE AS -

STATED IN GENERAL NOTE NO. 11 ~

4

9’

REVISION DESCRIPTION

r DRAWN BY: CHECKED BY:
SILICONE SEALANT AT Lw-rw- WS,
PLOT: DATE:
/ J HEAD JAMB (FULL ~ , / 1=4 12/02/05

OPENING SUBSTRATE AROUND HEAD JAMB END) 7 OPENING SUBSTRATE

BY OTHERS ~ OPENING SUBSTRATE BACKER ROD BY OTHERS / g
BACKER ROD—’ BY OTHERS , CONT. HEAD PAN/BLADE * & CAULK BY
& CAULK BY * BACKER ROD RETAINER ATTACHED TO OTHERS 5
QTHERS ~ 5 & CAULK BY HEAD BLADE WITH ./_»"__ 0.079 / ) {

OTHERS ! 48X3/4” TEK SCREWS - 7
1/2" MAX.T’@W I M . R | AT 7.5” 0.C. SEAL - 1/2” MAX. | :
SPACE ¢ Il 1/2" MAX. | 3 BETWEEN SURFACES SPACE
>\ l [ SPACE , l WITH SILICONE. - / ,

NO.

MANUFACTURER

ARROW UNITED INDUSTRIES
314 RIVERSIDE DRIVE

WYALUSING, PA 18853

570—-746—1888

EA—-64 LOUVER SYSTEM

DRAWING TITLE

CONSULTANTS

& CONSULTING, P.A.

8895 N. MILITARY TRAIL; SUITE C—-204

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561-775-4903

CERTIFICATION
DEC 0.2 7005

7

WARREN .

SCHAFFER, P.E.

AE. NO. 44135

S
4

DRAWING NO.

1464

R

il
<

4

SHEET NO.

oF 12




CLIP ANCHORS

wooD -

/

FRAMING BY '

SCREW)

l n
/1
PER FASTENER ! 7 l—1/2" /
- SCHEDULE ON 1/2"  CLIP ANCHORS
SHEET 1 (NO. ¢ Kl PER FASTENER
10 SCREW) / I s / l o SCHEDULE ON ~
, \ : T SHEET 1 (NO. 10
MIN. 2X_ <spocoge e 1 378" o SELF TAPPING ~

OTHERS

N/

S @
)

/

2
%

Lasviniy
B

13

-

I
l
I

N
/

BACKER ROD—/i;
& CAULK BY
OTHERS

[CTY -

CLIP ANCHOR
PER FASTENER:
SCHEDULE ON
SHEET 1 (1/4”/
CONCRETE -

SCALE: 3"=1"-0" \5/
/ "~ (TO wWOOD)

SCREW)

s

/ S
BLOCK/CONCRETE / _
OPENING BY .
OTHERS 7

TN
;
l
l
1

;

v
1/8 |/1 " LONG

(4AaBaoam) ¢

- 1/2” MAX. SPACE ”
SECTION -

=0

(TO BLOCK/CONCRETE)
(SEE SECTION "C1” FOR DETAIL NQT SHOWN)

SECTION N 7
SCALE: 3"=1"-0" \5/

/TYP.

/

1

O-—L
f

i

<UL
<LL

T T T @M@ |

/

/

STEEL FRAMING
BY OTHERS

METAL STUD OR /
ﬂ/

g

AT

L ol
d
|
|
|

SECTION

-—1/2"

j.

_
Laviinny O ————.—L

<X

RS E

(C2\

, SCALE: 3"=1"-0" \5/ /
(OPTION 1 TO METAL STUD OR STEEL)
(SEE SECTION /”c1” FOR DETAIL NOT SHOWN) '

£

_[1/2”

/

<LULNLL

SECTION * /5
SCALE: 3"=1-0" \&8/

/

FOR ANCHOR & |i
SUBSTRATE, SEE
SECTIONS C1,
C2, C3 & C4..

QXX

jroay . -
CLIP ANCHOR ‘; |
PER FASTENER | . ;
SCHEDULE ON ~ . / CAULKING
SHEET 1 | O -
(/4" BOLT) / @ a et f BY OTHERS

OO | ©

7 1/21:

% MAX. ]—_
MIN. 12 GA’ N . SPACE
STRUCTUAL ] ,
STEEL FRAMING T T (@A aB(ac(aD)aE)
BY OTHERS y, g ®®®@ B

r

© SECTION * /&2 ¢
: ' SCALE: 37=1-0" \B&J
(OPTION 2 TO METAL STUD OR STEEL)

{ (SEE SECTION "C1” FOR DETAIL NOT SHOWN) -

7
CLIP FASTENERS PER
SECTIONS "C3" & "c4”

B y

2" LEG .

2X2X1/8, 2X3X1/8 OR ~
2X4X1/8 6061-T6 v
ALUM. ANGLE 2" LONG ~

v —
EDGE DISTANCE PER ~ "\ |

FASTENER SCHEDULE ;-1
ON SHEET 1 ,

<AL
H

SLLLULRLGY
o
LN
v.
<

Y .

§
-

4A 4BJ4C 4DI4E

ALTERNATE "PANEL

s

' CLIP FASTENERS PER ‘
. SECTIONS "C1” & ”C2';

]

2X2X1/8, 2X3X1/8 OR
2X4X1/8 6061-T6
ALUM. ANGLE 2" LONG

-

2" LEG

' EDGE DISTANCE

Lastysnvaas)

PER FASTENER }
y SCHEDULE

ON SHEET 1

CLIP _CONNECTIONS

1/2" MAX.
SPACE

» TO_CONCRETE/BLOCK OR STEEL .

SEE SECTIONS FOR DETAIL NOT SHOWN -~
(TYP. BOTH SIDES OF OPENING) 7

/

N

11/2” MAX.
\ SPACE

TO_WOOD/METAL FRAMING, BUCK OR STEEL,

7

s

/

4A 4BJ4CI4DJ4E

/\/

SECTION

. SCALE: 3"=1-0" \&/

[C5Y

CHECKED BY:
W.W.S.

DATE:
12/02/05

REVISION DESCRIPTION

NO.

ITLE

DRAWIN

EA—-64 LOUVER SYSTEM

ARROW UNITED INDUSTRIES
314 RIVERSIDE DRIVE
WYALUSING, PA 18853

570—746—1888

MANUFACTURER

8895 N. MILITARY TRAIL; SUITE C-204

& CONSULTING, P.A.

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561—-775—-4902 FAX: 561-775-4903

CONSULTANTS

CATION

CERTIFi

n%

?

W. SCHAEFER, P.E.

P.E. NO. 44135

OEC 02

= BRAWING O, TREV.

1464

SHEET NO.

9 or 12




DRAWN BY: CHECKED BY:
WOOD, METAL STUD OR STEEL BLOCK, CONCRETE OR STEEL ” m— WRN. | WS
SUBSTRATE BY OTHERS, SUBSTRATE BY OTHERS , : i ; S Y
3/8”
KO B u
\ L@.uo_-l—r Fooe
L [ \ ;o | 0_0_©0_0 o0 0o _0o_ 0o 2" |2
” d i — L o
172" wax. b i L@ J 1/2" MAX. ] / : >}
SPACE SPACE 34" 7 EQ. SPACES 7/8 z
D\ @1 1/2" 0.Cc.7 I ‘ £
\&8/ i =
> V'EW ’ G 7 E
| SCALE: 3"=1"-0"\6 3 |
Jl/ e~ (SEE SECTIONS "E1” & "E2"” 5
A (1) ) FOR ANCHORS TO OPENING) ’ ‘
o
| | ‘ ANCHOR PER ‘- / =
—] I I RN FASTENER SCHEDULE\ 1 1/2 (AD)
I 2A29) | 6/ ON SHEET 1 (NO.+ \ 3/4” —| |— ) sx2x1 /4,7
2l a 10 SMS OR WOOD / o |
, | / SCREW INTO WOOD; - NV 4X2X1/4 OR n l
| i e | Lo MIN. NO. 10 SELF * " 5X2X1/4 - oo
i ] \ , TAPPING SCREW g i 6063—T5 - E wa
1727 MAX. | INTO METAL STUD i afiith | ALUMINUM - V28w
> ”» ’ 2 «— O
4 SPACE 4 OR STEEL) / ﬁ \ X 2 ,ANGLE % D{m
. o - J \n
| N—- oo |
ANCHOR PER ; £ 2 / O = ©
ANCHOR PER ‘- o9 -3
FASTENER 90
SECTION *  /&7\ e S SECTION - FASTENER SCHEDULE & / E &2y
— 1 (NO. (E2N ON SHEET 1 (3/8" EDGE DISTANCE PER 5204
SCALE: 3'=1'-0" \6/ 10 SMS OR WOOD - SCALE: 3"=1"-0" \8/ SLEEVE /WEDGE ~ FASTENER SCHEDULE > ,Jb
(INTO WOOD, METAL STUD' ~ SCREW INTO WOOD; (INTO CONCRETE OR /  ANCHOR INTO * ON SHEET 1 S oE
7 MIN. NO. 10 SELF - . OPTIONAL SECTION/ET - & "=
OR STEEL OPENING) TAPPING SCREW INTO STRUCTURAL STEEL OPENING) CONCRETE; 3/8" * - T=1-0 B b <
METAL STUD OR / BOLT INTO STEEL) / SCALE: 3"=1"-0" \6 /- =
STEEL) SILL SHOWN; HEAD SIMILAR  ~ g
/ i . , = |2
/ B / ; ) 2" MIN. ®® 3X2X1/4, b E
GAGD) o ANCHOR TO OPENING D ~— 3 1 ~ ANCHOR TO OPENING ax2x1/4 R [ > o o
/\/3/4 — PER SECTION “E1”. 17— PER SECTION "E2” ; ] SX2X1/% e | E sl
v (8 PER ANGLE) /\/ (3 PER ANGLE) | I 6063—T5 wi & 53k
\ g ALUMINUM - S| ¥<RlL
o l @/ il /21,, ANGLE S| g% e
aXx X L|J(5 =im‘é
NO. 8 X 1/2" 7~ , NO. 8 X 1/2" 7 p 1 N\ e xZ B5
SMS SCREW 6" / D ‘Q j3/4" SMS SCREW 6" Pavsunyiomil ; \@ / ﬁl E-—DJ E%E“
FROM ENDS & — "N 2ROM ENDS & ° ANCHOR PER FASTENER [A\ Wo Ex)
15" MAX. O.C. o - 15" / ’\ 1} SCHEDULE ON SHEET 1 e |58 =85
) m R nJ MAX. 0.C.——— " (3/8" SLEEVE/WEDGE EDGE DISTANCE PER [E [£80 =281
Ll . < =@
x o 2 Q i ¢ I 5 l{')" 3 ., ANCHOR INTO — FASTENER SCHEDULE - © gg.& §czé'f’_
8 BN | i & G- | CONCRETE; 3/8” BOLT’ ON SHEET 1 » & |27 =3
] o ey =i © M. 12" wto sTeEl)  ©  OPTIONAL SECTION/E2\ / N
e 'y & - ] a By e SCALE: 3"=1"-0" \6/ i
~ Fir SILL SHOWN; HEAD SIMILAR ' . o
Lessyvaims] @ @ N = |n:'LD
i/k/ Lanssns %lg,\ EE_JE
1/4~20 X 3 1/2"— I 9 /4 w1 _ == £
BOLT WITH 2 FLAT = s i B(/)LT Zv?m’j 3 ;{AZT, ; oy | o Bg
WASHERS & 1 \@—/ WASHERS & 1 , &(_‘ h Fy
LOCKNUT WITHIN 6” w0 LOCKNUT WITHIN 6”7 @/ andy @ —— Ao |z
24” 0.C. | /\/ \ 7 24" 0.C. 1 /\/ \ @ ©
SECTION m ‘ ’ SECTION ¢ @ ! DRAWING NO. |REV.
SCALE: 3"=1"-0" \6 /' SoALE 3oT—0" \&J | 1464
' - SHEET NO.
) 6 orF 12




OPTIONAL BLADE DETAIL
WITH SCREWED END CONSTRUCTION

(STANDARD LOUVER) ~

OPTIONAL BLADE SUPPORT BRACKET
DETAIL WITH SCREWED END CONSTRUCTION 7

|| 6.000
p 0.101 == b=
6.000
4 |
'1.000 |L 0.079 ,
I — SI L b
N
/
0.101 —= |-
6.000
i 6.000
!

"% ! 0.123
(28)OPTIONAL SILL |

Il

QY

DETAILS SHOWN ON THIS SHEET
ARE NOT WATER RESISTANT ’
UNLESS ALL BLADE END 7

CONNECTIONS ARE SCREWED & '

WELDED AS SHOWN ON SHEET /
4 OF 12. 7/

1.125

/
‘OPTIONAL HEAD /

CHECKED BY:

4.000

7 o 12

5.916 WRM. WWS.
) PLOT: DATE:
/ 1=4 12/02/05
<
1,750 —=0.078 0.123 1.709 ||°
e [
) ) f &
/
5.849 z
T
’ &
"
STANDARD ;
STRAIGHT JAMB 5
4
i m®
6.250 ;-
' g
6.000 f«— 0.125
1—-12 B
O 125} 1.500 /
' 9
N—V—‘ 0.625j 1_.___ E W
1-12 [7s) =00
a o3
(1B)RADIUS JAMB 2y
80,2
= xO~
z Y=
T h
/ E M=
& <
o J
5.717 ; g
=
e B
& n
n o &
14 5 go.‘j;
2 Z<- wh =
o] 52 5.5
S| 2 lae,
wo Qmé
/ / b Z 3z
STANDARD f:r] ﬁg ;gg
LOUVER BLADE’ %g %éﬁ
(SCREWED & WELDED CONSTRUCTION) E §88 X
9 G 3:‘3
I ENE
N CENE:
L
a
Z| o9
S| E N b3
S z
E [ \\\ m%
(@) =
o 2
[ aic s
DRAWING NO. JREV.
1464
SHEET NO.




/
5.717

5.717 i

4.000

OPTIONAL

5.717

LOUVER BLADE '
(SCREWED & WELDED CONSTRUCTION)

4.000

/

(4)WATER_RESISTANT ’

LOUVER BLADE ~ Y

(SCREWED & WELDED CONSTRUCTION)

4.000

STANDARD
LOUVER BLADE
(SCREWED CONSTRUCTION)

/

4.447

@ BLADE SUPPORT
BRACKET -

4

/

—

094 —{{=—
/ 4.000

/

8 il

4.829

BLADE SUPPORT '

BRACKET ¢

(SCREWED CONSTRUCTION)

~o

T v
: ——0.125
¢+ |—2.000-+  2.000 2" LEG MUST -
BLADE SUPPORT' |7 || |Couver reave
ANGLE
| 2000 10 [_7
/ @ 4.000
2.000 SIDE _JAMB -
;o 20 CLIP_ANGLE -
0.875 I LENGTH = 2",
f /

SCREWED & WELDED CONSTR /
( UeTON) T () MULLION COVER

CHECKED 8Y:

) DRAWI d
TEM #/ ITEM DESCRIPTION * MANUFACTURER /NOTES  * I,Awf‘n.?f was.
PARTS  / PO | Mas0zs0s
1A | STANDARD STRAIGHT JAMB * 6063—T6 ALUMINUM ~ .
1B |RADIUS JAMB 5052—H32 ALUMINUM - 2
2A | SILL / 6063—T6 ALUMINUM -
2B | OPTIONAL SILL 6063—T5 ALUMINUM - &
3A | HEAD / 6063-T5 ALUMINUM
38 | OPTIONAL HEAD 6063—T5 ALUMINUM 3
4A | STANDARD LOUVER BLADE (SCREWED & WELDED ENDS)‘|6063—T5 ALUMINUM - 3
4B | OPTIONAL LOUVER BLADE (SCREWED & WELDED ENDS) /| 6063—T5 ALUMINUM - 2
4 |(VWATER RESISTANT LOUVER BLADE , 6063—T5 ALUMINUM - z
(SCREWED & WELDED ENDS) g
4D | SCREWED END LOUVER BLADE 6063—T5 ALUMINUM * &
5A | BLADE SUPPORT BRACKET - 6063—T5 ALUMINUM (USED WITH BLADE 4D) ~ S
5 | BLADE SUPPORT BRACKET 6063—T5 ALUMINUM (USED WITH BLADES 4A, 4B & 4C)|F
6 | BLADE SUPPORT ANGLE v 6063—T5 ALUMINUM ¥
7 | MULUON END SUPPORT ANGLE ~ 6061—T6 ALUMINUM ,
8 |MULUON COVER ° 6063—T6 ALUMINUM + "
9 [SIDE JAMB CLIP ANGLE 6061—T6 ALUMINUM Z M
10 | DAMPER BLADE v 6063—T5 ALUMINUM (USED WITH PART 4B) - % 2
11A | STANDARD SILL PAN Y 16 GA. 5052—-H32 ALUMINUM * 353
11B | OPTIONAL SILL PAN ’ 16 GA. 5052—H32 ALUMINUM / Zz EEET"
FASTENERS '/ a5 .9
12 [1/4=14 X 1 1/4 HILT TEK SCREW OR - 1 THROUGH SUPPORT ANGLE AT EACH SUPPORT / =
BRACKET AND AT HEAD & SILL - 5220
13 | 1/4—14 X 1 1/4” HILTI TEK SCREW ~ 10 PER MULLION SUPPORT ANGLE INTO FRAME ~ z ,Jo
14 | 1/4—14 X 1 1/4" HILTI TEK SCREW ~ 2 PER EACH CLIP ANGLE INTO JAMB 2 5z
15 |NO. 8 X 3/4” SS. SMS - 2 THROUGH JAMB INTO EACH LOUVER BLADE - Ig&‘
16 |NO. 8 X 3/4” S.S. SMS 2 THROUGH SILL INTO FACH SIDE & MULLION JAMB - 2
17 11/4-20 X 1 1/2” TYPE "F” SCREW * 2 THROUGH JAMB INTO EACH BLADE LOUVER = n
SEALS & SEALANTS - i £
18| BULB SEAL [MCL 743091 0 p
(1) PARTS 4C & 10 SHALL BE USED IN PLACE OF PART 4A OR 4B WHEN LOUVER IS REQUIRED TO o1 2 .3
RESIST WATER PENETRATION. ~ gl z Soe
S| g5
=n E 8
S| a™ 3:"|
< SO 5uE
© Z 25
— (] G5 Tey
S LS 32
Lien £ 1
{ Ly %Z %82
2.000 ' H o |eo8 28T
' A 1
C & z . &
* 5 o= a
L—— 3.000 ui
(7) MULLION SUPPORT ANGLE 2 |
LENGTH = 127 5 = [
p < N o IFE
{ = I
3.514 | = i\ h\wgi
Ty IR
| | :
i}[f OOBOJ , — I~ BRAWNG NO. JREV.
‘ 1464

0449 "(10)DAMPER BLADE

"~ SHEET

NO.

8 or 12




SUBSTRATE
(REF. LOUVER
SECTIONS) 7

WELD FASCIA TUBING TO -
LOUVER PANEL WITH

1/8" X 1" LONG FILLET ~
WELDS AT 12" O0.C. ,

i
FASCIA TUBING /

FRAME (ANY
ALUMINUM 7/

TUBE SIZE)

i

¥

\

/

FASCIA TUBING
FRAME (ANY
ALUMINUM 7

TUBE SIZE)

SUBSTRATE

F

(REF. LOUWVER QPTIONAL FASCIA y

SECTIONS) ~

TUBING DETAIL

LOUVER
(REF.)

/

T
/ LOUVER
WELD TO BLADE WITH (REF.)
1/8” X 17 LONG FlLLET\
WELDS AT 12” 0./ /
[ [EXTERIOR
ALUMINUM FASCIA
_..J\

STRIP (WIDTH AS
REQUIRED) /

— WELD FASCIA TUBING TO
LOUVER PANEL WITH
1/8” X 17 LONG FILLET ~
WELDS AT 12" O.C.

-

&

OPTIONAL FASCIA 7
STRIP_ DETAIL /

FRAME CLIP

PER /
SECTIONS ON

/ SHEETS 1
THRU 7

/

LOUVER
(REF.) ‘\

1111111111

perieiii

[

/

SUBSTRATE 7

(REF. LOUVER
SECTIONS)

12" MAX. O.C.

NO. 8 X 3/4" SMS

/

OPTIONAL FLANGE

\70,079" THICK ALUMINUM /

CHECKED BY:
W.W.S,

DRAWN BY:
WRM.

PLOT: DATE:
=4 12,/02/05

DATE

BY

REVISION DESCRIPTION

NO.

570-746—1888

ARROW UNITED {NDUSTRIES
314 RIVERSIDE DRIVE
WYALUSING, PA 18853

MANUFAGTURER

EA-64 LOUVER SYSTEM

& CONSULTING, P.A.
8895 N. MILITARY TRAIL; SUTE C-204

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561~775~4902 FAX: 561-775-4903

DRAWING TITLE
CONSULTANTS

FLANGE FRAME ,
9NON-STRUCTURAL &

FRAME DETAIL Y SUPPORT LOUVER FRAME

MAY NOT BE USED TO

#

DETAILS ON SHEETS 8 7
THRU 11 ARE GOVERNED
BY DETAILS SHOWN ON ~
SHEET 1 THRU 7.

¥. SCHAEFER, P.E.

P.E. NO. 44135

CERTIFICATION
DEC 0 27009

DRAWING NO. |REV.

1464




/
1/4" TEK SCREWS (TO ]
ATTACH DAMPER TO
LOUVER FRAME) WITHIN 5"/
OF CORNERS & AT MAX.
10" 0.C. /.

—

1/4” X 1” CONTINUOUS '

PVC GASKET «

SUBSTRATE
(REF. LOUVER
SECTIONS) ~

}

I

LOUVER HEIGHT

‘\

ﬂ}/

/ i’
EXTERIOR
LOUVER
PANEL ,
| (REF.)

w———_ﬁm

(REF. LOUVER
SECTIONS)”

7/
VOLUME
CONTROL
DAMPER “

BLADE SUPPORT’
ANGLE (REF.) /

/

va

(<
]

5
4

1/4” TEK SCREW *
ATTACHED TO

—~ BACKER PLATE -~

WITHIN 5" OF
CORNERS & AT 7
MAX. 10" 0.C.

Y

3x2x1/8
CONTINUQUS
ALUMINUM ANGLE
SHIP ATTACHED~

/7

1/4” TEK SCREWS (TO
ATTACH ANGLES TO /
LOUVER FRAME) WITHIN 5"
OF ENDS & MAX.

VOLUME /
CONTROL
DAMPER 7

2"/ \1 8 1/4” TEK [
l { £ SCREWS (TO
______ ” s/
1/4" X 1 \ ATTACH DAMPER /
Ao ) dee (g 0 (0w
| THICK) X 4" WITHIN 5" OF “
1/4” TEK SCREW ‘ WIDE CONT!NUOUS CORNERS & AT I
INTO EACH BLADE | ]ALUM!NUM MAX. 10" 0.C. / - =B
BRACE (REF.) / | BACKER PLATE ~ g RE | B9 &
Y% 5 a \/
LowveEr~" [EXTERIOR] ~ 1/ 4"T”31<U (1)qu o 2
PANEL , CON
(REF.)/ vVC—-822 OR VC_28/29 DAMPER gpvc GASKET+ d =]
\“ SECTION AT BIADE STIFFENER’
| VOLUME - m]LL o
' CONTROL ) q
DAMPER VOLUME ,_/ = -
CONTROL LOUVER
DAMPER PANEL EXTERIOR] 1 .
/ /
’ (REF.) © L PANEL WIDTH —=—t——— PANEL WIDTH ——
7
g VC—822 OR VC—28/29 DAMPER -
/
INSTALLATION CLIP SECTION_ AT MULLION .
(REF. LOUVER
SECTIONS)  /
_________ 7 Il
” SUBSTRATE
: i (REF. LOUVER
1/4" TEK SCREWS (TO * ‘ N§ SECTIONS)  ~
ATTACH DAMPER TO 1/4" X 1"— — K
1/47 X 17 LOUVER FRAME) * CONTINUOUS
CONTINUOUS ~ WITHIN 5" OF PVC GASKET
PVC GASKET- CORNERS & AT MAX.”’ ! I "
10" 0.C. 7 1/4” TEK SCREWS (TO
e vy ATTACH DAMPER TO
/_/ j LOUVER BLADE) THROUGH
LOUVER EVERY OTHER LOUVER
PANEL ESTEROR] BLADE - DETAILS ON SHEETS 8 7
(REF.) , THRU 11 ARE GOVERNED

VERTICAL CROSS SECTION

VC—822 OR‘/VC—28/29 DAMPER DETAIL’

—— LOUVER WIDTH —

VC—822 OR VC—28/29 '

DAMPER JAMB DETAIL 4

SHEET 1

BY DETAILS SHOWN ON/J !
THRU 7.

10" Q.C.

DRAWN BY:
W.RM.

CHECKED BY:
W.W.S.

PLOT: DATE:
1=4 12/02/05
=
b3
>
o
z
Q
=
o
[\
Q
(%]
[H]
o
z
Q
2}
o
4
o
z
)
E M
o
= 0
D D:COOO
[ e R
2yt
Ao |
[a] n .9
W 9.
E XO~
E Lz
5254
013,\
= 0
o I
x =
v OZ
W <C
=]
—
Q
5
il &
il £
L 2
73] [©] @
el 2 2.3
cw
o | & S3R
= W @30
o] Z P H 5
Q 60' 5 410
Sl Z,-7%x%
wo Jjug
~ Z 32
© o~ By
| wd, %o
ﬁ Lo 269Q
W 2210
<= 550
T =9~
L (@] BIEN
= 0O .o |
(= En0 %~
— ‘Z((ﬂ =39
o 5.8 82 ”
= o= @ 0
= 7] @ Z
= o 2
e} S= &
i
a
- W &9
S
<€ T = M
o " o
Lf o> 8 nz
S N - N
L é\\
o] B
DRAWING NC. |REV.




1/4” TEK SCREWS (TO
ATTACH STORM LOUVER
TO LOUVER FRAME) /
- WITHIN 5" OF CORNERS
& AT MAX. 10" o0.c. /

SUBSTRATE
(REF. LOUVER
SECTIONS)

1/4" X 1" 1

CONTINUOUS
PVC GASKET /

rrﬂ
b |

1

LE42v ’
| STORM
LOUVER

EXTERIOR
I

& Ei; ~N \‘/’///,/"‘—--h\“\JJ\\J
o LOUVER - T
% PANEL /
o (REF.) 4"
Lus
>
2
(@]
—

_(rhvh

SO
1/4” X 1’/

CONTINUOUS
PVC GASKET 4

TO LOUVER FRAME) 7

& AT MAX. 10" 0.C. 7/

_ - i

/
SUBSTRATE
(REF. LOUVER
SECTIONS) /

VERTICAL CROSS SECTION
LE42V _STORM LOUVER DETAIL /

4

1/4” TEK SCREWS. (TO '
ATTACH STORM LOUVER

WITHIN 5" OF CORNERS

/
/
3x2x 1/8
CONTINUOUS ANGLE
SHIP ATTACHED -~

1/4” TEK SCREWS (TO
ATTACH STORM LOUVER

TO LOUVER FRAME) /

WITHIN 5” OF ,
CORNERS & AT MAX. / LE42V STORM
10" 0.C. LOUVER
KRR
1/4” X 1"—’ .
CONTINUOUS
PVC GASKET~ =
(4313114 y . m
/ L
LOUVER — q E
PANEL = =
(REF.) 7 EXTERIOR] /
/
/
——— PANEL WIDTH ——={=—— PANEL WIDTH ——

LE42V STORM LQUVER
SECTION AT MULLION ~

1/4" TEK SCREW
ATTACHED TO
BACKER PLATE ~
WITHIN 5" OF
CORNERS & AT -
MAX. 10" 0.C. -

>

2x 2x 1/4
/MULLON ANGLE

/

1/4”" TEK SCREWS (TO ATTACH
STORM LOUVER TO LOUVER ,

4

INSTALLATION CLIP
(REF. LOUVER

BLADE) THROUGH EVERY OTHER CTIONS) 7
LOUVER BLADE , SECTIONS)
7/
LE42V STORM (SFLQJEBFSTRATE
LOUVER LOUVER ’
SECTIONS)/

QAL

1/4" X 1=
CONTINUOUS |,

PVC GASKET g

ALY

SUIAAALY

¢
LOUVER — j
PANEL
(REF_)/ EXTERIOR]| -

/

——— LOUVER WIDTH

LE42V_STORM LOUVER ~

JAMB DETAIL -

LE42V
STORM
LOUVER

™
QXX

1/4" X 1" |
CONTINUOUS
gpvc GASKET “

‘ |

1/4" TEK SCREW— |
!

|

THICK) X 4” WIDE

ALUMINUM BACKER

INTO EACH BLADE PLATE .,

|

|

: CONTINUOUS
- |
BRACE (REF.) ,

e >

DETAILS ON SHEETS 8 7

o

LOUVER i
PANEL LE42V STORM LOUVER
(REF.) SECTION AT BLADE STIFFENER -

THRU 11 ARE GOVERNED
BY DETAILS SHOWN ON ~
SHEET 1 THRU 7. ~

CHECKED BY:

DRAWN BY:
WW.S,

W.RM.

[PLOT: DATE:

1=4 12/02/05
wl
5
a
>
m
z
o]
=
e
[+4
Q
w0
w
a
=
<}
@«
&
o
S
=z
")
2y
i
= Yo
v =
S5 XX
o o~ 3
ped
=
Q= ©
W 9 -
E O~
5262
[aad EE} =~
= fo)
o I%
X nz
x O
W<
=
2
5
& [z
el B
4 1
nl o &
z = 7
el 2 8o
]
> | weedt
al 2a¢ 3
o =5 n
3l 8 _ag
WO Ly
© e oy
| [T R EE o
ﬁ LD xs®
Weny E1
<z Jgge
et 0 QO = ;5 ~
= 200 o
= SO 20;
SIRL - F
< o= 0 Q@
= 2 ®Z
e |S= z
ud
o
L A
z| & @A
SRS retes
tE Y H Ef‘*
RY H
g ™~ By
T I S N R
Bl 5 e
il €2 v o
Of pad &
= N
<.
£
[ DRAWING NO. | REV.

1464

SHEET NO.

11 or 12




4

DUCT TRANSITION

1/4” TEK SCREWS (TO

"DRAWN BY:

CHECKED Br:

W.RM. WW.S.

PLOT:

DATE:
1=4 12/02/05

1/4" TEK SCREWS (TO 1/4" TEK SCREWS (TO 32 x1/8 " S NECToN OF / ATTACH TRANSITION
ATTACH TRANSITION SLEEVE ATTACH TRANSITION SLEEVE CONTINUOUS ANGLE| gucTs 7o SLEEVE TO LOUVER "
TO LOUVER FRAME) WITHIN TO LOUVER FRAME) WITHIN/ \ SHIP ATTACHED _ LOUVER FRAME BLADE) THROUGH EVERY 3
5" OF CO/RNERS & AT MAX. / 5" OF CORNERS & AT MAX. OTHER LOUVER BLADE /
10” 0.C. SUBSTRATE 10" 0.C. . 2k
(REF. LOUVER DUCT TRANSITION SLEEVE INSTALLATION
SECTIONS)  / FOR CONNECTION OF DUCTS Eé'&’v E<§EF) z
TO LOUVER FRAME SECTIONS) £
£
1/4" X 1" ¢ s
CONTINUOUS SUBSTRATE 15
PVC GASKET (REF. 2
LOUVER 7 ||*
' : ] SECTIONS) I
” /
W' 2 ] 5| B¢ 1/4" X 1"
\ f 5 | 8 _ CONTINUOUS
1 /4" < 1] 2 PVC. GASKET 0
CONTINUOUS - W
]l/> PVC GASKET/ § P : £ wo
4 DUCT TRANSITION * o o i 2 g§§
/ ( 1 SLEEVE FOR oL
j CONNECTION OF * / q E a 2% 4
DUCTS TO : - = Q5.9
EXTERIOR LOUVER FRAME + LOUVER—" : / I EGgn
0 Z S= |
Il PANEL |, EXTERIOR LOUVER - 3254
! (REF.) ) , PANEL 2 <20
3 LOUVER ~__— ] —~—— PANEL WIDTH —==—— PANEL WIDTH —— (REF.) 1 & Z
W] PANEL , - ) | k=
| REF. T_TRANSITION SLEEVE [EXTERIOR] =
o (REF) VARIES P SECTION AT MULLION ouct TRANSITION - [EREEE E
u>J . SLEEVE FOR . / s
3 CONNECTION OF  —— LOUVER WIDTH T
= 2 x 2 x 1/4- DUCTS TO , . 52 2
—rr'\\/ MULLION ANGLE LOUVER FRAME DUCT TRANSTION 0 2 + ¥
£ . SLEEVE JAMB DETAIL § é G3R
< oRL
3| &=5.8
» 7 < Edi(ﬁ?“
1/4" TEK SCREW by n:é Eé
ATTACHED TO BACKER L] 5558
m/ PLATE WITHIN 5" OF - ) TR S
1 , 1/4” TEK SCREWS (TO CORMERS & AT MAX. s |258 280
1/4" X 1,:/ ATTACH TRANSITION SLEEVE a L2 Ly 038
CONTINUOUS TO LOUVER FRAME) WITHIN / / :E g% 8¢
PVC GASKET’ 5" OF CORNERS & AT = 52 :
MAX. 10" 0.C. / @gﬁ By
R [ A N :
1/4" X 1" o ”
CONTINUOUS , : :\‘8 GA. (125" 3= g2
PVC GASKET THICK) X 4" WIDEQ T o e
, ‘ | conTinuous ; S~ |72
y 1/4" TEK SCREW | ALUMINUM BACKER DETAILS ON SHEETS 8 =N EY
SUBSTRATE INTO EACH BLADE | PLATE / ) I 5
(REF. BRACE (REF.) ~ | THRU 11 ARE GOVERNED Ly N
LOUVER ‘ S
. SECTIONS) 7 ETERIOR| 7 BY DETAILS SHOWN ON
VERTICAL CROSS SECTION LOUVER SHEET 1 THRU 7. - SRANING NO. JREV.
DUCT TRANSITION SLEEVE DETAIL E’Fﬁg‘;; / DUCT TRANSITION SLEEVE ’ 1464
' SECTION AT BLADE STIFFENER‘ 1 o 12




